



Journal of Nonlinear Mathematical Physics

ISSN (Online): 1776-0852

ISSN (Print): 1402-9251

Journal Home Page: <https://www.atlantis-press.com/journals/jnmp>

INCOMPLETE q -GAMMA FUNCTION AND TRICOMI EXPANSION

M. Mansour

To cite this article: M. Mansour (2009) INCOMPLETE q -GAMMA FUNCTION AND TRICOMI EXPANSION, Journal of Nonlinear Mathematical Physics 16:2, 141–150, DOI: <https://doi.org/10.1142/S1402925109000133>

To link to this article: <https://doi.org/10.1142/S1402925109000133>

Published online: 04 January 2021

INCOMPLETE q -GAMMA FUNCTION AND TRICOMI EXPANSION

M. MANSOUR

*Faculty of Science, Math. Department, Mansoura University
 Mansoura, 35516, Egypt
 mansour@mans.edu.eg*

Received 24 September 2007

Accepted 22 October 2008

In this paper, we introduce a q -analogue of the Tricomi expansion for the incomplete q -gamma function. A general method is described for converting a power series into an expansion in incomplete q -gamma function. Also, we use the q -Tricomi expansion for giving a formal proof of the relation between the incomplete gamma function and the exponential integral. Finally, we formally deduce the q -Tricomi expansion via the q -Taylor expansion.

Keywords: Incomplete q -gamma function; exponential integral; the q -Tricomi expansion; basic hypergeometric function; q -binomial theorem; q -Taylor formula.

Mathematics Subject Classification 2000: 33B20, 33E20, 33D15.

1. Introduction

The incomplete gamma function is given by [3, 12]:

$$\gamma(\alpha, x) = \int_0^x t^{\alpha-1} e^{-t} dt = \alpha^{-1} x {}_1F_1 \left(\begin{matrix} \alpha \\ \alpha + 1 \end{matrix} \middle| -x \right). \quad (1.1)$$

In 1950, Francesco G. Tricomi [11] stated without proof the following expansion:

$$\gamma(\alpha, \omega x) = \omega^\alpha \sum_{n=0}^{\infty} \frac{\gamma(\alpha + n, x)}{n!} (1 - \omega)^n, \quad (1.2)$$

which is a special case of the multiplication theorem [3, 6.14(1)]

$${}_1F_1 \left(\begin{matrix} a \\ b \end{matrix} \middle| \omega x \right) = \sum_{n=0}^{\infty} \frac{(a)_n}{(b)_n} {}_1F_1 \left(\begin{matrix} a + n \\ b + n \end{matrix} \middle| x \right) \frac{[-(1 - \omega)x]^n}{n!} \quad (1.3)$$

for the confluent hypergeometric functions. In a search for better methods of evaluating the exponential integral

$$E_1(x) = \int_x^{\infty} t^{-1} e^{-t} dt \quad (1.4)$$

Present address: Faculty of Science, King Khalid University, Math. Department, Abha 9004, K.S.A.

(which occurs widely in applications, most notably in quantum-mechanical electronic structure calculations), Gautschi *et al.* [6] discovered the following equation

$$E_1(x) = -\gamma - \ln x + \sum_{n=1}^{\infty} \frac{\gamma(n, x)}{n!} \quad (1.5)$$

from the Tricomi expansion as a limiting case, where γ denotes the Euler constant. Also, Shy-Der Lin *et al.* [10] presented a rather elementary demonstration of Eq. (1.5) without using the Tricomi expansion.

Gupta [7] defined a q -analogue of the incomplete gamma function by

$$\Gamma_q(\alpha, x) = \frac{1}{(1-q)^\alpha} \int_0^x t^{\alpha-1} (tq; q)_\infty d_q t \quad (1.6)$$

and studied its important analytical properties and gave an application of it in statistical distribution theory.

The organization of this paper is as follows. In Sec. 2, we give some q -notations. In Sec. 3, we introduce a q -analogue of the incomplete gamma function, essentially the same as (1.6), and some of its identities. Some of the properties obtained in this section were already obtained in [7] with different proofs. Section 4 is devoted to proving a q -analogue of the Tricomi expansion. In Sec. 5, we give a general method to express any power series in a specific form as a series in the incomplete q -gamma function. In Sec. 6, we present a q -analogue of an important relation of the incomplete gamma function. Finally, Sec. 7 presents another proof of the q -Tricomi expansion by the q -Taylor expansion.

2. Preliminaries

In this paper we will always assume that $0 < q < 1$. The basic hypergeometric function is defined by [9]

$${}_r\varphi_s \left(\begin{matrix} a_1, \dots, a_r \\ b_1, \dots, b_s \end{matrix} \middle| q; z \right) = \sum_{k=0}^{\infty} \frac{(a_1, \dots, a_r; q)_k}{(b_1, \dots, b_s; q)_k} ((-1)^k q^{\frac{k}{2}(k-1)})^{1+s-r} \frac{z^k}{(q; q)_k}, \quad (2.1)$$

where the q -shifted factorials are defined by [9]

$$\begin{aligned} (a; q)_0 &= 1, \\ (a; q)_k &= \prod_{j=0}^{k-1} (1 - aq^j); \quad k = 1, 2, \dots, \\ (a_1, \dots, a_r; q)_k &= \prod_{i=1}^r (a_i; q)_k, \\ (a; q)_\infty &= \prod_{i=0}^{\infty} (1 - aq^i). \end{aligned}$$

The classical exponential function e^x has two different natural q -extensions denoted by $e_q(x)$ and $E_q(x)$ and defined by [9]

$$e_q(x) = {}_1\varphi_0 \left(\begin{matrix} 0 \\ - \end{matrix} \middle| q; x \right) = \sum_{k=0}^{\infty} \frac{x^k}{(q; q)_k} = \frac{1}{(x; q)_\infty}; \quad |x| < 1 \quad (2.2)$$

and

$$E_q(x) = {}_0\varphi_0 \left(\begin{matrix} - \\ - \end{matrix} \middle| q; -x \right) = \sum_{k=0}^{\infty} \frac{q^{\binom{k}{2}} x^k}{(q; q)_k} = (-x; q)_\infty, \quad (2.3)$$

where $x \in \mathbb{C}$.

The q -difference operator D_q is defined by [9]

$$D_q f(x) = \begin{cases} \frac{f(x) - f(qx)}{(1-q)x}, & x \neq 0 \\ \frac{df(0)}{dx}, & x = 0 \end{cases} \quad (2.4)$$

where

$$\lim_{q \rightarrow 1} D_q f(x) = \frac{df(x)}{dx}.$$

The q -integral on $(0, x)$ is defined by [9]

$$\int_0^x f(t) d_q t = (1-q)x \sum_{k=0}^{\infty} q^k f(xq^k). \quad (2.5)$$

3. A q -Analogue of the Incomplete Gamma Function

Definition 1. The incomplete q -gamma function is defined by

$$\gamma_q(\alpha, x) = \int_0^x t^{\alpha-1} E_q(-(1-q)t) d_q t, \quad \operatorname{Re}(\alpha) > 0. \quad (3.1)$$

As a special case of (3.1), we have

$$\gamma_q\left(\alpha, \frac{q}{1-q}\right) = q^\alpha \Gamma_q(\alpha),$$

where

$$\Gamma_q(\alpha) = \int_0^{\frac{1}{1-q}} t^{\alpha-1} E_q(-(1-q)qt) d_q t = \frac{(q; q)_\infty}{(q^\alpha; q)_\infty} (1-q)^{1-\alpha}.$$

The relation between the two formulas (1.6) and (3.1) is that

$$\Gamma_q(\alpha, x) = q^{-\alpha} \gamma_q\left(\alpha, \frac{qx}{1-q}\right), \quad 0 \leq x \leq 1.$$

Lemma 1.

$$\gamma_q(\alpha, x) = \frac{x^\alpha}{[\alpha]_q} {}_1\varphi_1\left(\begin{matrix} q^\alpha \\ q^{\alpha+1} \end{matrix} \middle| q; -(q-1)x\right), \quad (3.2)$$

where the quantum number $[\alpha]_q = \frac{1-q^\alpha}{1-q}$.

Proof.

$$\begin{aligned} \gamma_q(\alpha, x) &= \int_0^x t^{\alpha-1} E_q(-(1-q)t) d_q t \\ &= (1-q)x \sum_{k=0}^{\infty} q^k (xq^k)^{\alpha-1} E_q(-(1-q)xq^k) \\ &= (1-q)x^\alpha ((1-q)x; q)_\infty \sum_{k=0}^{\infty} \frac{q^{\alpha k}}{((1-q)x; q)_k}. \end{aligned}$$

Then

$$\gamma_q(\alpha, x) = (1-q)x^\alpha((1-q)x; q)_\infty {}_2\varphi_1\left(\begin{matrix} q, 0 \\ (1-q)x \end{matrix} \middle| q; q^\alpha\right). \quad (3.3)$$

By using the relation [9]

$${}_2\varphi_1\left(\begin{matrix} a, 0 \\ c \end{matrix} \middle| q; z\right) = \frac{(az; q)_\infty}{(c, z; q)_\infty} {}_1\varphi_1\left(\begin{matrix} z \\ az \end{matrix} \middle| q; c\right),$$

we get

$$\begin{aligned} \gamma_q(\alpha, x) &= \frac{(1-q)x^\alpha(q^{\alpha+1}; q)_\infty}{(q^\alpha; q)_\infty} {}_1\varphi_1\left(\begin{matrix} q^\alpha \\ q^{\alpha+1} \end{matrix} \middle| q; -(q-1)x\right) \\ &= \frac{x^\alpha}{[\alpha]_q} {}_1\varphi_1\left(\begin{matrix} q^\alpha \\ q^{\alpha+1} \end{matrix} \middle| q; -(q-1)x\right). \end{aligned} \quad \square$$

If we take the limit as $q \rightarrow 1$, then we get the second equality in (1.1).

Lemma 2.

$$D_q \gamma_q(\alpha, x) = x^{\alpha-1} E_q(-(1-q)x). \quad (3.4)$$

Proof. We get the proof immediately from the observation that $(D_q F)(x) = f(x)$ if $F(x) = \int_0^x f(t) d_q t$. \square

If we take the limit as $q \rightarrow 1$, then we obtain [3, 9.2(8)]

$$\frac{d}{dx} \gamma(\alpha, x) = x^{\alpha-1} e^{-x}.$$

Lemma 3.

$$D_q(x^{-\alpha} \gamma_q(\alpha, x)) = -(qx)^{-\alpha-1} \gamma_q(\alpha+1, qx). \quad (3.5)$$

Proof.

$$\begin{aligned} D_q(x^{-\alpha} \gamma_q(\alpha, x)) &= \frac{1}{[\alpha]_q(1-q)x} \sum_{k=0}^{\infty} \frac{(-1)^k q^{\binom{k}{2}} (q^\alpha; q)_k ((1-q)x)^k}{(q; q)_k (q^{\alpha+1}; q)_k} (1-q^k) \\ &= \frac{-1}{[\alpha]_q} \sum_{k=1}^{\infty} \frac{(-1)^{k-1} q^{\binom{k-1}{2}} (q^{\alpha+1}; q)_{k-1} ((1-q)qx)^{k-1}}{(q; q)_{k-1} (q^{\alpha+2}; q)_{k-1}} \frac{1-q^\alpha}{1-q^{\alpha+1}} \\ &= \frac{-1}{[\alpha]_q} \frac{1-q^\alpha}{1-q^{\alpha+1}} {}_1\varphi_1\left(\begin{matrix} q^{\alpha+1} \\ q^{\alpha+2} \end{matrix} \middle| q; -(q-1)qx\right) \\ &= -(qx)^{-\alpha-1} \gamma_q(\alpha+1, qx). \end{aligned} \quad \square$$

Also, we can prove the following lemma by induction:

Lemma 4.

$$D_q^n(x^{-\alpha} \gamma_q(\alpha, x)) = (-1)^n q^{\binom{n}{2}} (q^n x)^{-\alpha-n} \gamma_q(\alpha+n, q^n x). \quad (3.6)$$

If we take the limit as $q \rightarrow 1$, then we have [3, 9.2(9)]

$$\frac{d^n}{dx^n}(x^{-\alpha}\gamma(\alpha, x)) = (-1)^n x^{-\alpha-n}\gamma(\alpha + n, x).$$

Lemma 5.

$$\gamma_q(\alpha + 1, qx) = -q^{\alpha+1}[-\alpha]_q \gamma_q(\alpha, x) - qx^\alpha E_q(-(1-q)x). \quad (3.7)$$

Proof. By using Eq. (3.5), we have

$$\gamma_q(\alpha + 1, qx) = -(qx)^{\alpha+1} D_q(x^{-\alpha}\gamma_q(\alpha, x)).$$

By using the q -Leibniz' rule [9]

$$(D_q(fg))(x) = (D_q f)(x)g(x) + f(qx)(D_q g)(x) \quad (3.8)$$

and Eq. (3.4), we obtain

$$\begin{aligned} \gamma_q(\alpha + 1, qx) &= -(qx)^{\alpha+1}([-\alpha]_q x^{-\alpha-1} \gamma_q(\alpha, x) + (qx)^{-\alpha} x^{\alpha-1} E_q(-(1-q)x)) \\ &= -q^{\alpha+1}[-\alpha]_q \gamma_q(\alpha, x) - qx^\alpha E_q(-(1-q)x). \end{aligned} \quad \square$$

If we take the limit as $q \rightarrow 1$, we get [2]

$$\gamma(\alpha + 1, x) = \alpha\gamma(\alpha, x) - x^\alpha e^{-x}.$$

Lemma 6.

$$D_q(e_q((1-q)x)\gamma_q(\alpha, x)) = e_q((1-q)x)\gamma_q(\alpha, x) + x^\alpha[x^{-1} - 1 + q]. \quad (3.9)$$

Proof.

$$\begin{aligned} D_q(e_q((1-q)x)\gamma_q(\alpha, x)) &= \frac{1}{x(1-q)}\{e_q((1-q)x)\gamma_q(\alpha, x) - [1 - (1-q)x]e_q((1-q)x)[\gamma_q(\alpha, x) \\ &\quad - (1-q)x^\alpha E_q(-(1-q)x)]\} \end{aligned}$$

and by using the relation [9]

$$e_q(z)E_q(-z) = 1, \quad (3.10)$$

then

$$D_q(e_q((1-q)x)\gamma_q(\alpha, x)) = e_q((1-q)x)\gamma_q(\alpha, x) + x^\alpha[x^{-1} - 1 + q]. \quad \square$$

Also, we can prove the following lemma by induction:

Lemma 7.

$$D_q^n(e_q((1-q)x)\gamma_q(\alpha, x)) = e_q((1-q)x)\gamma_q(\alpha, x) + \sum_{i=0}^{n-1} D_q^i(x^\alpha[x^{-1} - 1 + q]) \quad (3.11)$$

$$= e_q((1-q)x)\gamma_q(\alpha, x) + x^{\alpha-1} - (1-q)x^\alpha + \sum_{i=1}^{n-1} \frac{x^{\alpha-i}(q^\alpha; q^{-1})_i}{(1-q)^{i-1}} \left[\frac{1-q^{\alpha-i}}{x(1-q)(1-q^\alpha)} - 1 \right]. \quad (3.12)$$

If we take the limit as $q \rightarrow 1$, then we obtain

$$\frac{d^n}{dx^n}(e^x \gamma(\alpha, x)) = e^x \gamma(\alpha, x) + \sum_{i=0}^{n-1} x^{\alpha-1-i} (\alpha-1)_{-i},$$

where $(a)_{-m} = a(a-1)(a-2) \cdots (a-m+1)$.

By using Eq. (3.4), we can prove the following lemma:

Lemma 8. *The q -difference equation of the function $\gamma_q(\alpha, x)$ is given by:*

$$[(1-q)x][1+(1-q)x]D_q^2 \gamma_q(\alpha, x) - [1-(1-q)x - q^{\alpha-1}]D_q \gamma_q(\alpha, x) = 0. \quad (3.13)$$

If we take the limit as $q \rightarrow 1$, then we have

$$x\gamma''(\alpha, x) + (x - \alpha + 1)\gamma'(\alpha, x) = 0,$$

which is the differential equation of the function $\gamma(\alpha, x)$.

4. q -Tricomi Expansion

In this section, we will give a q -analogue of the Tricomi expansion.

Theorem 1. (*q -Tricomi expansion*)

$$\gamma_q(\alpha, \omega x) = \omega^\alpha \sum_{n=0}^{\infty} \frac{\gamma_q(\alpha + n, x)}{[n]_q!} (\omega; q)_n; \quad 0 \leq x < \frac{1}{1-q}; \quad 0 \leq \omega \leq 1; \quad \alpha > 0, \quad (4.1)$$

where $[n]_q! = \frac{(q; q)_n}{(1-q)^n}$.

Proof. Consider the following double series

$$\sum_{k=0}^{\infty} \sum_{n=0}^{\infty} a_{k,n} = (1-q)(x\omega)^\alpha ((1-q)x; q)_\infty \sum_{k=0}^{\infty} \sum_{n=0}^{\infty} \frac{q^{\alpha k}}{((1-q)x; q)_k} \frac{(\omega; q)_n}{(q; q)_n} [(1-q)xq^k]^n, \quad \alpha > 0. \quad (4.2)$$

This double series will have positive terms if $x \geq 0$, $(1-q)xq^i < 1 \forall i = 0, 1, 2, \dots$, $\omega \geq 0$ and $\omega q^i \leq 1 \forall i = 0, 1, 2, \dots$. But $\frac{1}{1-q} \leq \frac{1}{q^i(1-q)}$ and $1 \leq \frac{1}{q^i} \forall i = 0, 1, 2, \dots$. Then, the double series (4.2) is of positive terms if $0 \leq x < \frac{1}{1-q}$ and $0 \leq \omega \leq 1$.

The sum by rows of the double series (4.2) is given by

$$\sum_{k=0}^{\infty} \left(\sum_{n=0}^{\infty} a_{k,n} \right) = (1-q)(x\omega)^\alpha ((1-q)x; q)_\infty \sum_{k=0}^{\infty} \frac{q^{\alpha k}}{((1-q)x; q)_k} \left(\sum_{n=0}^{\infty} \frac{(\omega; q)_n}{(q; q)_n} [(1-q)xq^k]^n \right). \quad (4.3)$$

By using the q -binomial theorem [9]

$$\sum_{r=0}^{\infty} \frac{(a; q)_r}{(q; q)_r} z^r = \frac{(az; q)_\infty}{(z; q)_\infty} \quad |z| < 1, \quad (4.4)$$

then we get

$$\sum_{n=0}^{\infty} \frac{(\omega; q)_n}{(q; q)_n} [(1-q)xq^k]^n = \frac{(q^k(1-q)\omega x; q)_\infty}{(q^k(1-q)x; q)_\infty} \quad |z| < \frac{1}{1-q}.$$

Then

$$\sum_{k=0}^{\infty} \left(\sum_{n=0}^{\infty} a_{k,n} \right) = (1-q)(x\omega)^\alpha ((1-q)x; q)_\infty \sum_{k=0}^{\infty} \frac{q^{\alpha k}}{((1-q)x; q)_k} \frac{(q^k(1-q)\omega x; q)_\infty}{(q^k(1-q)x; q)_\infty}.$$

By using the relation [9]

$$\frac{(a; q)_\infty}{(a; q)_m} = (aq^m; q)_\infty, \quad m \in \mathbb{C},$$

then we get

$$\sum_{k=0}^{\infty} \left(\sum_{n=0}^{\infty} a_{k,n} \right) = (1-q)(x\omega)^\alpha \sum_{k=0}^{\infty} ((1-q)x\omega q^k; q)_\infty q^{\alpha k} = \gamma_q(\alpha, \omega x). \quad (4.5)$$

Then, the series $\sum_{k=0}^{\infty} (\sum_{n=0}^{\infty} a_{k,n})$ converges.

Now, the double series (4.2) is of positive terms and one of its repeated series is convergent, so also is the other and also the double series; and the three sums are the same. Also, the interchanging of summation order is always true [1]. Then

$$\begin{aligned} \gamma_q(\alpha, \omega x) &= \omega^\alpha \sum_{n=0}^{\infty} \frac{(\omega; q)_n}{[n]_q!} \left[(1-q)x^{\alpha+n} ((1-q)x; q)_\infty \sum_{k=0}^{\infty} \frac{q^{(\alpha+n)k}}{((1-q)x; q)_k} \right] \\ &= \omega^\alpha \sum_{n=0}^{\infty} \frac{(\omega; q)_n}{[n]_q!} \gamma_q(\alpha + n, x). \end{aligned} \quad \square$$

Now, in Theorem 1 if we take the limit as $q \rightarrow 1$ we can easily prove in a formal way that

$$\gamma(\alpha, \omega x) = \omega^\alpha \sum_{n=0}^{\infty} \frac{\gamma(\alpha + n, x)}{n!} (1 - \omega)^n, \quad (4.6)$$

which is the Tricomi expansion in the case of the incomplete gamma function.

By using (4.1) and (3.2) with x replaced by $\frac{x}{1-q}$, we obtain

Lemma 9.

$${}_1\varphi_1 \left(\begin{matrix} q^\alpha \\ q^{\alpha+1} \end{matrix} \middle| q; \omega x \right) = [\alpha]_q \sum_{n=0}^{\infty} \frac{(\omega, q)_n}{[\alpha + n]_q} {}_1\varphi_1 \left(\begin{matrix} q^{\alpha+n} \\ q^{\alpha+n+1} \end{matrix} \middle| q; x \right) \frac{x^n}{(q, q)_n}; \quad 0 \leq x < 1, \quad 0 \leq \omega \leq 1. \quad (4.7)$$

Replace x by $(q-1)x$ and take the limit when $q \rightarrow 1$, then we have formally

$${}_1F_1 \left(\begin{matrix} \alpha \\ \alpha + 1 \end{matrix} \middle| \omega x \right) = \sum_{n=0}^{\infty} \frac{(\alpha)_n}{(\alpha + 1)_n} {}_1F_1 \left(\begin{matrix} \alpha + n \\ \alpha + n + 1 \end{matrix} \middle| x \right) \frac{[-(1-\omega)x]^n}{n!}, \quad (4.8)$$

which is a special case of Eq. (1.3) (Erdélyi multiplication formula).

5. Some Expansions in $\gamma_q(\alpha, x)$

We can write the q -Tricomi expansion in the form

$$\frac{\gamma_q(\alpha, \omega x)}{\omega^\alpha} - \gamma_q(\alpha, x) = \sum_{n=1}^{\infty} \frac{\gamma_q(\alpha + n, x)}{[n]_q!} (\omega, q)_n$$

and by using Eq. (3.2), we get

$$(1-q)x^\alpha ((1-q)\omega x; q)_\infty \sum_{k=0}^{\infty} \frac{q^{\alpha k}}{((1-q)\omega x; q)_k} - \gamma_q(\alpha, x) = \sum_{n=1}^{\infty} \frac{\gamma_q(\alpha + n, x)}{[n]_q!} (\omega, q)_n.$$

When $\omega \rightarrow 0$, we have

$$\frac{x^\alpha}{[\alpha]_q} - \gamma_q(\alpha, x) = \sum_{n=1}^{\infty} \frac{\gamma_q(\alpha + n, x)}{[n]_q!}, \quad (5.1)$$

or

$$\frac{x^\alpha}{[\alpha]_q} = \sum_{n=0}^{\infty} \frac{\gamma_q(\alpha + n, x)}{[n]_q!}, \quad 0 \leq x < \frac{1}{1-q}. \quad (5.2)$$

Then

$$\frac{x^{\alpha+k}}{[\alpha+k]_q} = \sum_{n=k}^{\infty} \frac{\gamma_q(\alpha + n, x)}{[n-k]_q!}; \quad k \geq 0. \quad (5.3)$$

We can choose arbitrary d_k , subject to convergence, to form the following series

$$\begin{aligned} \sum_{k=0}^{\infty} \frac{x^{\alpha+k}}{[\alpha+k]_q [k]_q!} d_k &= \sum_{k=0}^{\infty} \sum_{n=k}^{\infty} \frac{\gamma_q(\alpha + n, x)}{[k]_q! [n-k]_q!} d_k \\ &= \sum_{n=0}^{\infty} \frac{\gamma_q(\alpha + n, x)}{[n]_q!} \sum_{k=0}^n [k]_q! d_k, \end{aligned}$$

where $[n]_q = \frac{[n]_q!}{[k]_q! [n-k]_q!}$ (q -binomial). Then

$$\sum_{k=0}^{\infty} \frac{x^{\alpha+k}}{[\alpha+k]_q [k]_q!} d_k = \sum_{n=0}^{\infty} c_{n,q} \frac{\gamma_q(\alpha + n, x)}{[n]_q!}, \quad (5.4)$$

where $c_{n,q} = \sum_{k=0}^n [k]_q! d_k$. So, the power series which take the form given in the left side of Eq. (5.4) can therefore be written as a series in incomplete q -gamma functions.

For example, if we take $d_k = (-1)^k q^{\frac{k(k-1)}{2}} \omega^{\alpha+k}$, then

$$c_{n,q} = \omega^\alpha \sum_{k=0}^n [k]_q! (-1)^k q^{\frac{k(k-1)}{2}} \omega^k.$$

By using (4.4) if we replace a by q^{-n} and z by $-\frac{aq^n}{x}$, we get

$$x^n (-a/x; q)_n = \sum_{k=0}^n [k]_q! q^{\frac{k(k-1)}{2}} a^k x^{n-k}, \quad (5.5)$$

which is called Gauss's q -binomial formula. Replace x by $1/\omega$ and put $a = -1$, then

$$(\omega; q)_n = \sum_{k=0}^n [k]_q! q^{\frac{k(k-1)}{2}} (-1)^k \omega^k. \quad (5.6)$$

Hence,

$$c_{n,q} = \omega^\alpha (\omega; q)_n,$$

and

$$\sum_{k=0}^{\infty} \frac{(-1)^k q^{\frac{k(k-1)}{2}} (\omega x)^{\alpha+k}}{[\alpha+k]_q [k]_q!} = \sum_{n=0}^{\infty} \frac{\gamma_q(\alpha + n, x)}{[n]_q!} \omega^\alpha (\omega; q)_n. \quad (5.7)$$

In view of (3.2), (4.1) is the special case of $d_k = (-1)^k q^{\frac{k(k-1)}{2}} \omega^{\alpha+k}$ of (5.4).

6. A Formal Proof of the Expansion Formula in Eq. (1.5)

It is well known that [3, 9.7(5)]

$$E_1(x) = -\gamma - \ln x + \sum_{n=1}^{\infty} \frac{(-1)^{n-1} x^n}{n \cdot n!}, \quad (6.1)$$

so it would suffice to prove that $\sum_{n=1}^{\infty} \frac{(-1)^{n-1} x^n}{n \cdot n!} = \sum_{n=1}^{\infty} \frac{\gamma(n, x)}{n!}$.

Now, in (5.4) with $\alpha > 0$ if we take

$$d_k = \frac{(-1)^k q^{\frac{k(k-1)}{2}}}{[k+1]_q},$$

then

$$\begin{aligned} c_{n,q} &= \sum_{k=0}^n [n]_q \frac{(-1)^k q^{\frac{k(k-1)}{2}}}{[k+1]_q} \\ &= \frac{-1}{[n+1]_q} \sum_{k=1}^{n+1} [n+1]_q (-1)^k q^{\frac{k(k-1)}{2}} q^{1-k}. \end{aligned}$$

By using Eq. (5.5) at $x = q$ and $a = -1$, we get

$$\begin{aligned} c_{n,q} &= \frac{-q^{-n}}{[n+1]_q} \{q^{n+1}(1/q; q)_{n+1} - q^{n+1}\} \\ &= \frac{q}{[n+1]_q}, \quad n > 0 \end{aligned}$$

and $c_{0,q} = 1$

By using Eq. (5.4), we have

$$\sum_{k=0}^{\infty} \frac{(-1)^k q^{\frac{k(k-1)}{2}} x^{\alpha+k}}{[\alpha+k]_q [k+1]_q!} = q \sum_{n=1}^{\infty} \frac{\gamma_q(\alpha+n, x)}{[n+1]_q!} + \gamma_q(\alpha, x).$$

Put $\alpha = 1$ and take the limit when $q \rightarrow 1$, then formally

$$\sum_{k=1}^{\infty} \frac{(-1)^{k-1} x^k}{k.k!} = \sum_{n=1}^{\infty} \frac{\gamma(n, x)}{n!}, \quad (6.2)$$

which proves the expansion formula in Eq. (1.5).

7. q -Tricomi Expansion and q -Taylor Expansion

In this section, we will formally deduce the q -Tricomi expansion via the q -Taylor expansion. Let $f(z)$ be a continuous function on some interval (a, b) and $c \in [a, b]$. Then the q -Taylor expansion ([4, 8] and [5]) is given by the formal series

$$f(z) = \sum_{n=0}^{\infty} \frac{z^n (c/z, q)_n}{[n]_q!} (D_q^n f)(c), \quad z \in (a, b). \quad (7.1)$$

By using the substitution $q \rightarrow q^{-1}$, we get the formal series

$$f(z) = \sum_{n=0}^{\infty} \frac{(-1)^n c^n (c^{-1}z, q)_n}{q^{\frac{n(n-1)}{2}} [n]_q!} (D_q^n f)(q^{-n}c).$$

Then

$$f(\omega x) = \sum_{n=0}^{\infty} \frac{(-1)^n x^n (\omega, q)_n}{q^{\frac{n(n-1)}{2}} [n]_q!} (D_q^n f)(q^{-n}x).$$

Now, let $f(x) = x^{-\alpha} \gamma_q(\alpha, x)$ and by using the relation (3.6), we obtain

$$(\omega x)^{-\alpha} \gamma_q(\alpha, \omega x) = \sum_{n=0}^{\infty} \frac{(-1)^n x^n (\omega, q)_n}{q^{\frac{n(n-1)}{2}} [n]_q!} (-1)^n q^{\frac{n(n-1)}{2}} x^{-\alpha-n} \gamma_q(\alpha, x)$$

thereby recovering Eq. (4.1).

Acknowledgments

I am very grateful to the referee(s) for valuable comments and useful suggestions, which greatly helped improve the presentation and the quality of the paper.

References

- [1] T. J. I'A. Bromwich, *An Introduction to the Theory of Infinite Series*, 2nd edn. (Macmillan, London, 1965).
- [2] A. Chakrabarti, *Elements of Ordinary Differential Equations and Special Functions* (Wiley Eastern Limited, 1990).
- [3] A. Erdélyi, W. Magnus, F. Oberhettinger and F. G. Tricomi, *Higher Transcendental Functions*, Vol. 1, 2 (McGraw-Hill, New York, 1953) (based, in part, on notes left by Harry Bateman).
- [4] T. Ernst, A new notation for q -calculus and a new q -Taylor formula, Uppsala University, Report Department Math., 1–28 (1999).
- [5] T. Ernst, The history of q -calculus and a new method, Licenciante Thesis, Uppsala, U.U.D.M. Report (2000):16 (available from <http://www.math.uu.se/research/pub/Ernst4.pdf>).
- [6] W. Gautschi, F. E. Harris and N. M. Temme, Expansions of the exponential integral in incomplete gamma functions, *Appl. Math. Lett.* **16** (2003) 1095–1099.
- [7] A. Gupta, A q -extension of “incomplete” gamma function, *J. Indian Math. Soc.* **58**(4) (1992) 249–262.
- [8] F. H. Jackson, A q -form of Taylor’s theorem, *Mess. Math. Math.* **38** (1909) 62–64.
- [9] R. Koekoek and R. F. Swarttouw, The Askey-scheme of hypergeometric orthogonal polynomials and its q -analogue, Report 94-05, Technical University Delft (1994) (available from <http://aw.twi.tudelft.nl/~koekoek/>).
- [10] S.-D. Lin, Y.-S. Chao and H. M. Srivastava, Some expansions of the exponential integral in series of the incomplete gamma function, *Appl. Math. Lett.* **18** (2005) 513–520.
- [11] F. G. Tricomi, Asymptotische Eigenschaften der unvollständigen Gammafunktion, *Math. Zeitschr.* **53** (1950) 136–148.
- [12] E. T. Whittaker and G. N. Watson, *A Course of Modern Analysis*, 4th edn. (Cambridge University Press, 1978).